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Unit 6. Math Problem

Focus on Words

A.
A: Hey, Ted, can you help me with this math problem?
B: What is it, Frank?
A: It is confusing. What’s four times nine times one third?
B: Hmmm, let me see. First, you do the multiplication. Four times nine means you 

multiply four with nine. That’s thirty six. Then you multiply one third to that. 
Multiplying one third is the same thing as dividing the number by 3. So thirty six 
divided by 3 is twelve. The answer is twelve!

A: Thank you, Ted. You are so smart!

Answer: times, multiply, one third, divided, answer

B.

C.
1. (A) Nine birds are flying away and two birds are left.

(B) There are eleven birds on the wires.
(C) All the birds are flying in the sky.
(D) Nine birds are sitting on the wires.

2. (A) The girl has two times more candy than the boy.
(B) The girl has less candy than the boy. 
(C) The boy and the girl have equal amounts of candy. 
(D) The boy has half the amount of candy than the girl.

Answer: 1. (A)  2. (C) 

D.
1. Rachel, are you good at math?

(A) Yes, PE is my favorite subject.
(B) No, math has always been difficult for me.
(C) Don’t worry. Just ask your math teacher.

2. What is ten plus seven?
(A) It’s seventeen.

Listening Start

B.
Answer:

(A) It’s seventeen.
(B) Ten plus seven is seventy.     
(C) There are ten plums in the basket.

3. What is one fifth of twenty?
(A) I have 10-digit numbers.                 
(B) It’s four.
(C) One times five is five.

4. What’s the answer if you subtract five from fifteen?
(A) The answer is a half.
(B) The answer is ten.   
(C) The answer does not exist.

5. What do you get if you divide twenty by ten?
(A) I’ll get two.
(B) The answer is six.
(C) The math test is canceled.

Answer: 1. (B)  2. (A)  3. (B)  4.(B)  5.(A)

Answer: 1. Thirteen(13)  2. One million(1,000,000)  3. Ninety(90)  
4. three point fifty(3.50)  5. Three fifths(3/5)

Listen to It!
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1. If you subtract four from fifteen, you get eleven.

2. If you add three and seven, you get ten.

3. Four times five is twenty.

4. Eighteen divided by nine equals two. 

5. One third of nine is three.
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E.
1. A: I don’t understand fractions. 

B: Okay, I’ll give you an example. Imagine that you have one third of a pie.   
Picture the pie, and cut it up into three equal parts. One third would be one 
piece of the pie.

A: Oh, that helps. By imagining a picture, it is easier to understand.
B: Yes, it is. You can apply it whenever you are counting a part of something. 

2. A: What’s six times six subtracted from a thousand? 
B: That’s one thousand minus thirty six, so it’s nine hundred sixty four.
A: Wow, you’re good at math. It was too difficult for me.

Answer: 1. (C)  2. (A)

F.
A: Jake, can you solve this math problem? It’s pretty confusing.

Listening Focus

Example.
A: Let’s have an oral quiz. I will give you a math question and you will answer verbally.
B&C: OK.
A: Andy, you have ten cookies. If you ate two of them and gave three to your brother, 

how many do you have now?
B: That’s ten minus two minus three. So I have five cookies left.
A: Good. Now Sarah, there are five birds. Three more birds flew in, and one bird flew away. 

How many birds are there now?
C: That’s five plus three minus one, so there are seven birds now!
A: Good Job!

Answer:

Try. 
A: We are going to have a pop quiz on math today. I am going to give you a question 

and you are to answer it. You must do the calculations in your head.
B&C: OK
A: Joe, there are two chairs in a row, and there are seven rows. How many chairs are there 

Listening Activities

5 + 3 – 1 = 7

A: Jake, can you solve this math problem? It’s pretty confusing.
B: Sure. What is it?
A: It’s asking what is the sum of five and three, multiplied by ten.
B: Ok. First, you do the addition. Five plus three is equal to eight. Then, you multiply 

that by ten. So the answer is eighty.

Answer: 1. (C)  2. (B)

G.
Hi, I’m Susan. I ran errands at the market today because my mom asked me to buy 
three bottles of soy sauce. Each soy sauce was $4.10. So the total was $12.30. I had 
$20 in cash. After I paid the cashier, he gave me change of $7.70. 

Answer: 1. (C)  2. (A)  3. (B)

A: Joe, there are two chairs in a row, and there are seven rows. How many chairs are there 
in total?

B: That’s two times seven. There are fourteen chairs.
A: Excellent! Amanda, there are twelve pencils in a box, and there are three boxes. How 

many pencils are there all together?
C: That’s twelve times three, so there are thirty six pencils!
A: Very good. Now, Jim, there is a car that has four tires, and there are nine cars.  What’s 

the total number of tires?
D: Four times nine is thirty six. There are a total of thirty six tires.
A: You are very smart!

Answer: 

Sample answer:
I went shopping with my mom today to buy some clothes. I bought three shirts.  Each shirt 
was 2,000 won. I also bought a dress that was 20,000 won and a pair of jeans that cost 
25,000 won. I originally had 60,000 won. After shopping I had 9,000 won left.

Speak Out
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2 x 7 = 14
.

12 x 3 = 36 

4 x 9 = 36
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A.
1. (A) The students are learning the multiplication table. 

(B) The girl is drawing a picture.
(C) The girl is solving a math problem on the board. 
(D) The girl is figuring out a science question.

2. (A) The boy is asking his friend a question. 
(B) The boy is trying hard to solve the problem. 
(C) The boy is counting with his hands. 
(D) The teacher is helping the boy solve the problem.

3. (A) The child is trying to solve a math equation with number magnets. 
(B) The child is playing with the magnetic building blocks.  
(C) The child is using checkers to count. 
(D) The child can’t reach the number magnets.

4. (A) The girl is changing the batteries in her calculator. 
(B) The calculator is next to the writing pad.
(C) The girl is teaching someone how to use a calculator. 
(D) The girl is punching numbers on her calculator. 

Answer: 1. (C)  2. (B)  3. (A)  4.(D)

Review Test 6
C.
1. A: Do you like math? 

B: Yes, I do. Math is very simple because there can only be one answer to 
each math problem.

A: Oh, you must be very logical.

2. A: Karen, how old is your sister? 
B: She is twice as old as I am. 
A: Do you mean she is 24 years old? I can’t believe that. She looks much younger 

than her age.

3. A: Dad, I don’t know how to use a calculator.
B: It’s not that difficult. You can just learn the math symbols on it. They are a plus sign(+) 

for addition problems, a minus sign( - ) for subtraction, a multiplication symbol(x or * ), 
a division sign(÷) and an equal sign( = ).

4. I went to the stationery store to buy some school supplies. I bought a dozen pencils that 
cost 12 dollars. Then I saw a writing pad that matched perfectly with the pencil set. I 
bought it for 2 dollars. The total came out to be 14 dollars. 

Answer: 1. (C)  2. (B)  3. (A)  4.(D)

B.
1. Can you help me with this math problem?

(A) Sure. What is it?
(B) Yes, we have a big problem.
(C) OK, I’ll help you find what you’re looking for. 

2. What is one thousand divided by fifty?
(A) The answer is twenty.
(B) The answer is two hundred.
(C) The answer is zero.

3. What is the product of eight times four?
(A) It’s four.
(B) The product is thirty two.
(C) The production has been stopped.

4. Give me your phone number.
(A) Okay, it’s thirteen.
(B) The phone has 10-digit numbers.
(C) Okay, it’s 342-3890.

Answer: 1. (A)  2. (A)  3. (B)  4. (C)

bought it for 2 dollars. The total came out to be 14 dollars. 

Answer: 1. (B)  2. (B)  3. (C)  4.(B)

D.
My friends and I had a pajama party today at my house. For the party, I ordered two pizzas 
and two buckets of chicken. One pizza was 10 dollars, and a bucket of chicken was 8 dollars. 
I also bought three bottles of soda. Each bottle was 2 dollars. So the total cost was 42 dollars. 

Answer: 1. (C)  2. (B)  3. (A)
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